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\% 1. Sketch a graph of the family of curves called the witch of Maria Agnesi.
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2. Sketch the family of curves of r = 1 + csinf forc == ,c = 1, and c=2.
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3. Find the exact length of the curve = In(secx),0 < x <
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4. Find the exact surface area for the given curve rotated about the y-axis.
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5. Calculate the first and second derivative. For which values of t is the curve
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6. Calculate the area of the region that lies inside the first curve and outside the |
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7. Find the equation of an ellipse with center (-1, 4), vertex (-1, 0), and focus (-
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8. Find the eccentricity and identify the conic.
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